
Math 211 Su24 CoC R Erickson 6 5 TEST 4 {Ch4} Name K E Y

6 5 + 6  ? .? .
Show all work for FULL credit

_(10pts) (4.1 Riemann Sum] Use the graph of fto find the Riemann sum with six
subintervals. Take the sample points to be Left endpoints. Draw the rectangles on the diagram.

3 . 5 = f(x)

10

R. Sum (LHS)

=(2X1) +(3-5)(1) +4)(1)+(2)(1)

+-11(1)+6-2-57(1)

=11 .5 -3 .5

18.0

- 2 . 5

P a g e  1  o f  7



Math 211 Su24 CoC R Erickson TEST 4 {Ch4}
Name K E Y

(10 ps) 12 Def Integrals) Use Property 8 to estimate the value of J,V1+x- )dx

8. 1f m E f(x) = M for a & ? b. then

mb - 11) = |"/(x)ds = M(h - «1)

I  T i

max: f(1)=J

min: 8(2)- 172-73

b - a  =  2 - 1 = 1

Prop 8:

#(2-1) 55,0757(2-1)

3

0 . 5 7 7 4  5 I ?0 .7071

o So average the two since the curre
is pretty straight

0-5774+0.7071 =0.6422
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BTW: wefram Alpha: Exact = 253-257=0.63567



KEY
Math 211 Su24 CoC R Erickson TEST 4 {Ch4}

3(5 pts) |4.3 Fundamental Thm] Use Part 1 of the Fundamental
Theorem of Calculus to find the derivative of

d 5x3+4' dx 1'44)
d r

N a m e

g ( r )  = x -  +  4  d r

5

(opts) (4,41ndef Integrals) Evaluate the following integrals:.

@ (83-122+1)dx

=

-  2 + 1

- ? + 1

- 4 =
-?+1
5 /

+
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K E Y
Math 211 Su24 CoC R Erickson TEST 4 (Ch4} Name

5. (Spts) |4.5 Substitution] Solve by using an appropriate substitution:

1722(14 + 82) 5 di

l e t  1 1 = 1 4 + 8 7 3

d u  =  0 + 8 - 3 z ° d z
or

d u  = 2 4 z d e  ? d z = 2 4 ? "
S o . . .

I = 17÷ 24?

5 = 24

= 24
5+1

- 5 1 1
+  C

+  c

-  + C
=

+ 3

9 6

96
+  C

(14+873)"
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Math 211 Su24 CoC R Erickson TEST 4 {Ch4)

6. 5pts) 4.5 Substitution| Solve by using an appropriate substitution:

? let N= 4+ sin (Ez)
2 du

d z =
TI Cos (TZ)

5

? Limits:
u(Is = 4+sin (91) =4+1=5
I (6)  =4+514 (96)=4+0=4

4T CorE (4) (1.641531)

- 0 = - 7 7 3 . 4 2 7

2

= 8 9 6 7 1

+ 3

14
=

4
urdu

4

= 461
= 6(4-59)

14
36T

(4096-15625)

= -
18

5 0 1 1 5 2 9 }
2 33-3.427
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(10 ps) 14.5 Substitution) Solve by using an appropriate substitution including substitution of the

1 = 2 - 8 + 2

K E Y

5

d u = - 8 . 2 t d t 2 - 8t3 at

d t  = du
-16 t

? l imi ts
4 ( 3 )  + 2 - 8 6 1 9 = 2 - 1 2 5 - 7 0

U ( 5 ) = 2 - 8 6 5 ) 2 = 2 - 2 0 0 = - 1 9 8

? Integral
-198 4€

- 1 9 8

d u

- T 6 t ,
70

4 = - 7 0

1-198

- 7 0

=- . 11981-91-7017

=-4 la (198) in case your
Calc

hare

ot
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du

Cos (4 )

(1 Opts) [4.5 Substitution] Solve by using an appropriate substitution
including substitution of the limits:

1  =  s i n  ( x )

d u  =  c o s  ( x ) d x

"0/2

c o s  ( u l  d u

78/2

= sin (u)

17%2
= Sin Sin (x) ! |

= sin (1)
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